When you see three, use SOE

One very common type of exam question is the three mark question we’ll
call the SCE question. There is a particular way you need to answer it, and
we’re going to look at it now to teach you how to be successful with it in the
exam.

1. Spotting SCE questions

There are two clues:

e The question will be worth three marks (or six marks but with two parts)
e The command phrase may be ‘State fully one’

2. What is SCE?

Let’s use this SCE question as a worked example.
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_:‘. A tremor measuring 6.8 hit Algeria on 21 May 2003,
et Thenia was the epicentre of this devastating earthquake
— ALGERIA 1378 were reported dead in Boumerdes and 878 died in
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Using evidence from the figure, state fully one reason why there were more deaths in Bourmerdes
than Algiers. (3)

What does SCE What do these words
stand for? mean?

Statement ot ot o o wer? | The earhauke caused more deaths in Poumerdes becaue t wns

T Cloger fo the epicentre.

Example of an answer

Consequence So what?!1?

0, the shaking wold have been mich stronger here than in Agers.
I offen o qood idea fo shart this segond senfence with fhe word 0"

- 1
Elaboration Tell me more! This would have caused more buldings to Collspse or be damaged ond

50 would have caused more deaths.




2. Have a go

Try completing this alternative answer to the above question:

S = There are fewer deaths in Algiers because it is the capital city.

C

affermgth of the earthauake.

S this means that there would have been more emerqency services such s fie men and police available to deal it the

E = They would have been on hand fo search for and rescue vicling of the earthauake and so fewer peaple wiould have died.

3. Common SCE errors
What's wrong with these answers?

S = There are more deaths in Boumerdes
because it is closer to the epicentre.

C = Therefore the shaking will be more
severe here.

E = Also, Boumerdes is not the capital city
so there may not be as many rescue
services here.

Score: 1 out of 3

These types of questons will ask. you fo sate ully ONE
reason. One Common misfake i for the last senfence of fhe
anguver 1o move on fo a Complefely défFerent painf. That's
uhat’s happened here.

The main poinf of the answer was abouf fhe distance from the
epicentre. The second sertence develops this a bit more. fut
look- what hagpens in senfence three: fhe answer veers off o
discuss the poirt about lgers being the captal. Now, we
know fhis is a valid poinf, but it doesn't earn any marks
becguse e answer doesn't afe fully one veason Las asked
for in the question), vather it states partially fuio veasons.

Beware this misake - ifs very cormon and you can be
Sucked info if because whaf qou're Spging is froe, i’ Jost nof
answering fhe quegfion!!

S = There are more deaths in Boumerdes
because it is closer to the epicentre.

C = Therefore the shaking will be more
severe here.

E = That’s why there are more deaths
there.

Score: 1 oot of 5

This one’s a it easier fo spof. The problem here is that fhe
answer vurs ovt of sfeam in senfence Three. Rather Than
adding anything new, fhe last senfence simply vepeqts the
wording of the auestion. This is GCSE now - ypu've nof qoing
fo gt an credit o simply being able fo capy out o question!!



